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1. BEEBO
(DB FE U
HEARBEERL 42,000 42,000 0
BEAMESZIFR 42,000 42,000 0
= g 0 0 0
BEMEZIAE 200,335,000 201,078,000 A 743,000
fhilEXZmMEES 7,822,000 4,435,000 3,387,000
ThLEXEEEGES 7,822,000 4,435,000 3,387,000
U AR 2,000 2,000 0
ZHFE 1,000 1,000 0
Z DR EE 1,000 1,000 0
FE IR ET 208,201,000 205,557,000 2,644,000
QBREER
BxE 194,295,000 192,322,000 1,973,000
WHFEL 37,617,000 36,885,000 732,000
BIELEE 6,157,000 6,190,000 A 33,000
REEES 3,605,000 3,788,000 A 183,000
wIEE 34,000 34,000 0
WREXEE 28,000 24,000 4,000
HERE 4,196,000 3,526,000 670,000
R E 1,397,000 1,558,000 A 161,000
BREE 51,000 35,000 16,000
ST 348,000 348,000 0
SeEIKE 29,508,000 35,054,000 A 5,546,000
E1EE 6,575,000 4,250,000 2,325,000
g 247,000 247,000 0
HE 15,000 15,000 0
BIEERE 510,000 445,000 65,000
FHH 720,000 1,361,000 A 641,000
REEH 319,000 301,000 18,000
FE 96,507,000 91,295,000 5,212,000
BEEH 2,123,000 2,556,000 A 433,000
[F4 L& 78,000 78,000 0
XihaEE 88,000 88,000 0
TR NER 4,037,000 3,894,000 143,000
BAEEAE 135,000 350,000 A 215,000
I 13,906,000 13,235,000 671,000
1% 5 $REN 292,000 292,000 0
WHRFY 6,598,000 6,483,000 115,000
EHELEE 1,301,000 1,080,000 221,000
BRREES 74,000 72,000 2,000
wIEE 5,000 5,000 0
WREXEE 8,000 8,000 0
HEMRE 291,000 291,000 0
A& 103,000 103,000 0
BEE 47,000 47,000 0




SGEE N 161,000 161,000 0
EEE 40,000 20,000 20,000
BIEERE 277,000 252,000 25,000
FHH 358,000 341,000 17,000
REEH 78,000 78,000 0
EFRE 992,000 811,000 181,000
Efar 649,000 648,000 1,000
XihaEE 1,892,000 1,810,000 82,000
ARG 740,000 713,000 27,000
EEEA 208,201,000 205,557,000 2,644,000
e AR L R EIEREEE 0 0 0
FHmE RS 0 0 0
HEARR R RAE 0 0 0
2. BEENEHOE

(D#FRE SN 0 0 0
BENINEEET 0 0 0
QrRENER 0 0 0
BENERE 0 0 0
LHRRRE M EREE 0 0 0
LA — % 1E R BA EE SR AE 0 0 0
—RIERE ERE S 12,417,954 12,780,684 A 362,730
— AR IERRBF AR A 12,417,954 12,780,684 A 362,730

I I5EERMERBOE
LAY E IE R BA EE IS IR AE 0 0 0
BEERMEREED 3,000,000 3,000,000 0
{eE IEBREA FEEAR TR = 3,000,000 3,000,000 0
I EGREAEEIRES 15,417,954 15,780,684 A 362,730




